MaIMIBAQ

/3sq) |e1auay

JUB]SIS9Y U0IS01109

uoIsI9aid ybiy JuawyIeYY |eloads |e1oads 9a14 aqn1

Moj4 9314

m
S
=
5
@
@
=
S
Q
=
®
S
=
=

121

Double Pitch'Sprockets

l Double Pitch Sprockets (for S Rollers): Steel, Stainless Steel, Engineering Plastic

These are sprockets for Double Pitch chains.

Model Numbering Example

D
.
'
SR
0 |

ll Usage Conditions of Engineering Plastic Sprockets

RF2040S -1B 912T -SS
Size/Roller type
No. of strungsp/Hub type J J

Series
[Blank]: Steel
No. of effective teeth: 912T=9%.T
(10T is written as “1000T")

Q : Hardened teeth
SS : Stainless steel
SST : Wear-resistant stainless steel
P : Engineering plastic

1. Operating temperature range: —10°C to 60°C

2. Allowable chain speed: 70 m/min or less (under non-lubricated conditions)
Can be used up to 150 m/min under oil-lubricated conditions or when pre-lubed.

3. Refer to page 157 “Corrosion Resistance Guide for Corrosion Resistant Chains and Sprockets” for
the foods and chemicals that can be conveyed.

Standard Sprocket Corrosion Resistant Sprocket o No. | Pitch |Outer| Tooth |Bore Dia. d Hub Approx.
Steel Stainless Steel Engineering Plastic  |gtoive AOFI CDirc|e Dia. | Width Pilot Dia. Dy Lengh Mass (kg)
Teeh |SM0| Pio- B<I)re Max. [~ g Engineering| [ Seel/ | Engineering
Model No. Model No. Model No. G| 2 Do i Stiles Stel | Plostc Sailss Sieel|  Plostic
RF20405-1B912T RF20405-1B912T-SS | RF20405-1B912T-P | 95 | 19| 78.23] 84 | 7.3 [127] 38| 60| 60| 25 | 0.6 | 0.09
RF2040S-1B1012T  |RF2040S-1B1012T-SS | RF2040S-1B1012T-P |10 % | 21 | 86.17| 92 | 7.3 |127| 46| ¢ | €9 | 25 | 0.8 | 0.12
RF2040S-1B1112T  |RF2040S-1B1112T-SS %f}}j@%ﬁ M| 23| 9414/ 100 | 73 [127] 50| 77| 77| 25 | 10 | 015
RF20405-1B1200T | RF2040S—1B1200T—SS 12 | 24| 9814 104 | 73|127| 42| &3 25 | 08
RF2040S-1B1212T  |RF2040S-1B1212T-SS éﬁfé{( %éﬁ%ff/#/ 12% | 25 | 10214 108 | 7.3 [127] 42| 63| 80| 25 | 0.8 |0.16
RF20505—1B912T RF20505-1B912T-SS | RF20505-1B912T-P | 9% | 19| 9778 105 | 89159 48| 73| 75| 28 | 1.1 [0.16
RF2050S-1B1012T  |RF2050S-1B1012T-SS | RF2050S-1B1012T-P |10 % | 21 | 107.72| 115 | 8.9 [159| 48| 73 | 85| 28 | 1.2 | 0.21
RF2050S-1B1112T  |RF2050S-1B1112T-SS | RF2050S-1B1112T-P |11 % | 23 | 117.68| 125 | 8.9 [159| 48| 73 | 90| 28 | 1.3 | 0.24
RF2050S-1B1200T  |RF20505-1B1200T-SS 12 | 24 | 122,67/ 130 | 89 |159| 48| 73 28 | 13
RF20505-1B1212T  |RF2050S-1B1212T-SS %ﬁz@%@@ﬁf/ 12| 25 | 127.67] 135 | 89 [159| 48| 73 | 100 | 28 | 1.4 | 029
RF20605-1B912T RF2060S-1B912T-SS | RF20605-1B912T-P | 9% | 19 | 117.34] 126 | 11.9 [159] 55| 83 | 85| 40 | 2.0 |0.31
RF2060S-1B1012T  |RF2060S-1B1012T-SS | RF2060S-1B1012T-P |10 % | 21 | 129.26| 138 | 11.9 [159| 55| 83 | 95 | 40 | 2.3 | 0.39
RF2060S-1B1112T  |RF20605-1B1112T-SS %ﬁ%ﬁg}/f M| 23| 141220 150 | 119 (18 | 55| 83| 100 | 45 | 27 | 0.49
RF2060S-1B1200T | RF20605-1B1200T-SS 12 | 24 | 147210 156 | 119 |18 | 55| 83 45 | 28
RF2060S-1B1212T  |RF2060S-1B1212T-SS R/F%ff%@%ﬁ%// 12% | 25 | 153.20] 162 | 11.9[18 | 55| 83 | 120 | 45 | 2.9 | 0.66
RF20805-1B912T RF20805-1B912T-SS 91| 19| 15645 167 |15 |23 | 3] 93 40 | 33
RF2080S-1B1012T  |RF2080S—1B1012T-SS 10% | 21 | 172.35 184 |15 |23 | 63| 93 40 | 37
RF2080S-1B1112T  |RF2080S—1B1112T-SS 17| 23| 188.29] 200 [15 |28 | 75| 107 45 | 49
RF2080S-1B1200T | RF2080S—1B1200T—SS 12 | 24| 196.28| 208 |15 |28 | 75| 107 45 | 52
RF2080S-1B1212T  |RF2080S-1B1212T-SS 12| 25 | 204.27| 216 {15 |28 | 75 107 45 | 55
RF21005-1B912T P;F/f/m@{—/li’l%% 9. [ 19| 19557 209 [18 |28 | 75] 107 50 | 59
RF21205-1B912T RF21205 189121755 915 | 19| 234.68 251 |24 [33 | 0| 117 63 | 105
RF21605-1B912T Rﬂ%l&%ﬁ—ég 915 | 19| 312.90] 335 [30 [33 [ 103 ] 147 71 | 220

Note: 1. Models in shaded areas [//77] are made-to-order. All other models are stocked.

2. Material: Standard sprockets are machine structural carbon steel. Teeth are unhardened on all models.
Corrosion resistant sprockets are stainless steel.
Engineering plastic corrosion resistant sprockets are special-grade MC901 nylon.



l Double Pitch Sprockets (for R Rollers): Steel, Stainless Steel

These are sprockets for Double Pitch chains.

Model Numbering Example

RF2050R -1B 1100T -SS

Size/Roller type —
No. of strands/Hub type

No. of effective teeth: 1100T=11T

Series
[Blank]: Steel

Q : Hardened teeth
SS : Stainless steel

SST : Wear-resistant stainless steel

Standard Sprocket Corrosion Resistant Sprocket S P.iich Ol..ll‘er Topth Bore Dia. d Hub Approx.
Steel Stainless Steel Effective CD';Zle Dia. Width _ Dia. Length Mass
Model No. Model No. i DP. Do T Pilot Bore| - Max. Dy L (ke)
RF2040R-1B1000T RMRIBI000755 10 8220 93 | 73 127 32 52 25 0.5
RF2040R-1B1100T RF2040R-1B1100T-SS 1" 90.16| 102 | 7.3 127 £ 63 25 0.7
RF2040R-1B1200T RF2040R-1B1200T-SS 12 98.14| 110 | 7.3 127 , 63 25 0.8
RF2040R-1B1300T RF2040R-1B1300T-SS 13 10614 118 | 7.3 127 £ 63 25 0.9
RF2040R—1B1400T /ﬁ;{/o/f ﬁ%%gf% 14 nais| 127 | 73 127 0 63 25 0.9
RF2040R-1B1500T {/@//R{/l/m/j-/ 15 12217 135 | 7.3 15.9 45 68 28 12
RF2040R-1B1600T /r;{ //1//0 53 16 130.20| 143 | 7.3 15.9 45 68 28 1.2
RF2050R-1B1000T RASRABINSS ) 10 10275 117 | 89 15.9 48 73 28 1
RF2050R-1B1100T RF2050R-1B1100T-SS 1 n2.70| 127 | 89 15.9 48 73 28 1.2
RF2050R-1B1200T RF2050R-1B1200T-SS 12 122.67| 138 | 89 18 48 73 28 1.3
RF2050R-1B1300T RF2050R-1B1300T-SS 13 132.67| 148 | 89 18 48 73 28 1.4
RF2050R-1B1400T /;5/ f(é@/?ﬁ/fy/ 14| 14268 158 | 89 18 48 73 28 1.6
RF2050R-1B1500T %} 6/0/// 15 15271 168 | 89 18 48 73 28 1.7
RF2050R-1B1600T }K{% , 16 16275 179 | 89 18 48 73 28 1.9
RF2060R-1B1000T RS BI00/55 10 12329 140 | 119 18 55 83 45 2.3
RF2060R-1B1100T RF2060R-1B1100T-SS N 135.23| 153 | 119 18 55 83 45 2.5
RF2060R-1B1200T RF2060R-1B1200T-SS 12 14721 165 | 119 18 55 83 45 2.8
RF2060R-1B1300T RF2060R-1B1300T-SS 13 159.20| 177 | 119 18 55 83 45 3.0
RF2060R~1B1400T ﬁ%ﬁ%%7 14 171.22) 190 | 119 18 55 83 45 3.3
RF2060R-1B1500T /{{j@//) /lé/l//wé// / 15 183.25| 202 | 119 18 55 83 45 3.6
RF2060R-1B1600T /;/2 7 16 19529 214 | 119 18 55 83 45 3.9
RF2080R-1B1000T BI000T/5S 10 164.39| 187 | 15 28 75 107 45 42
RF2080R-1B1100T /////}// 1 180.31| 203 | 15 28 75 107 45 47
RF2080R-1B1200T 12 196.28| 220 | 15 28 75 107 45 5.2
RF2080R-1B1300T 13 21227| 237 | 15 28 75 107 45 5.8
RF2080R-1B1400T 14 228.29| 253 | 15 28 75 107 45 6.4
RF2080R-1B1500T 15 24433 269 | 15 28 75 107 45 7.1
RF2080R-1B1600T 16 2039 286 | 15 28 75 107 45 7.8
RF2100R-1B1100T 1 22539 254 | 18 33 80 17 56 7.8
RE2VA0R 1811007 1 270.47| 305 | 24 45 80 130 80 | 147
REZIA0R 1811007 B 360.63| 407 | 30 70 115 170 125 | 355

Note: 1. Models in shaded areas [/////] are made-to-order. All other models are stocked.

2. Material: Standard sprockets are machine structural carbon steel. Teeth are unhardened on all models.
Corrosion resistant sprockets are stainless steel.

MaIAIaNQ

/9s( |eJauay

JUB]SISAY UOIS01109

uois1931d ybiy JuaWyaeny [e1aads |e1oads aaJ4 aqny

Mmoj4 9914

|enueyy huniaauibul

122



Double Pitch'Sprockets

o
<
3
) :
= l Double Pitch S Type Lock Sprockets (for S Rollers) }
ConfiguratonA  ,, | Configuration B L L @ S Type Lock Sleeve Dimensions
oo T T Sleeve D D L Bolt Size | Tightening Torque
S g Model No. 3 S | (MxS) (N-m)
b o5
23 S 320 | 240 | 120 Mdx16 42
Si= - S2 420 | 320 | 140 M5x18 8.3
53 _|_ S3 485 | 385 | 155 M5x20 8.3
0, Tyl o S o al x| Il |9« S4 56.0 | 460 | 155 M5x20 8.3
@ qQ Q{ q Q Ql Q4 ﬂm q x
& J_ - S5 66.0 | 560 | 175 M5x22 8.3
ES \ BI= ] 6 80.0 | 68.0 | 21.0 M6x25 16.8
3 ‘ 3 ‘ S7 101.0 | 86.0 | 245 M8x30 405
—t — | See page 14 for more information and notes on use.
]
g Model Numbering Example Ordering Example
- -
= Chain no.: RF2040S
3 RF2040S -1B 912T-52 518 A No. of effective teeth: 9 1/2  Configuration: A
Size/Roller ty;‘)e Configuration A or B Shaft bore: 15 mm
No. of strands/Hub type Shaft bore dia.
No. of effective teeth: 912T=914T No. of mounting bolts Model Number
(10T is written as “1000T") Sleeve model no. RF2040S-1B912T-S2515A
.'-!’ 4@ Double Pitch S Roller Shaft Bore Dimensions and Sleeve Models
@
g- RF2040S ShaftBore Dio.d| 15 | 16 | 17 | 18 | 19 | 20 | 22 | 24 | 25 | 28 | 30 | 32 | 35 | 38 | 40 | 42 | 45
= No. of | Tooth PCD Outer | Hub | Hub |Max Allowoble| 174 | 186 | 198 | 209 | 221 | 232 | 256 442 | 465 | 488 | 523
Effective | Width D Dia. Dia. | Length Torque
Toeth T P Do D, L (N-m) 223 | 232 | 260 | 279 | 298 | 325
9% 7.3 78.23 84 60 25
10 %% 7.3 86.17 92 69 25 | Applicable $2(5) S4(4) Dr=66.0
o Sleeve D.=42.0 D.=56.0 55(5) Dc=56.0
E 1% 7.3 94.14 | 100 77 25 | Model No./ D320 D460 2175
= 12 7.3 98.14 104 63 25 Dimensions 1,=14.0 L,=15.5
> 121 73 | 10214 108 63 25
g
8 D P N sicisocbiod] 17 [ 18 [ 19 [20 [ 22 [24 | 25 [ 28 [ 30 [ 32 | 35 [ 38 | 40 | 42 | 45
3 No. of Tooth PCD Outer Hub Hub | Max. Allowable
2 Effective | Width 5 Dia. Dia. | Length Torque 237 | 251 | 265 | 279 | 307 | 335 | 349 | 391 | 418 | 446 | 488 | 442 | 465 | 488 | 523
- Teeth T P Do By L (N-m)
9% 8.9 97.78 | 105 73 28
10 % 89 [107.72 ] 115 73 28 Ap;|3|iccb|e $2(6) Dr=42.0 S4(6) S5(5)
- Sleeve Dc=32.0 D=56.0 Dr=66.0
= 1% 89 [117.68 | 125 73 28 |podel No./ Lo140 D46.0 D560
= 12 8.9 122.67 130 73 28 | Dimensions L,=15.5 L,=17.5
g 12 89 [127.67| 135 73 28
7]
& RF2060S Shaft Bore Dio. df| 24 25 28 30 32 35 38 40 42 45 48 50 55
g No. of Tooth PCD Outer Hub Hub | Max. Allowable
Effective | Width 5 Dia. Dia. | Length Torque 446 | 465 | 521 | 558 | 595 | 651 | 883 | 930 | 976 | 1046 | 1116 | 1162 | 1279
Teeth T P Do Dy [ (N-m)
9% 1.9 [ 11734 126 83 40
10 2 1.9 | 12926 | 138 83 40 Appli|iccb|e s4(8) Dr=56.0 S5(10) S6(6)
Sleeve Dc=46.0 D:=66.0 D;=80.0
- % | 119 [14122] 150 | 83 | 45 |yt L=15.5 D.=56.0 De=68.0
@ 12 11.9 | 147.21 156 83 45 | Dimensions L,=17.5 L,=21.0
@
- 12 % 119 [ 15320 | 162 83 45
)
= RF2080S ShaftBore Dia. d| 38 40 42 45 48 50 55 60 65 70
No. of PCD Outer Hub Hub | Max. Allowable
Effective D Dia. Dia. | Llength Torque 883 930 976 1046 1116 1162 1279 2140 2319 2497
Teeth P Do B L (N-m)
9% 15 156.45 | 167 93 40 D=66.0
10 ¥ 15 [ 17235 ] 184 93 | 40 Apﬁlicoble $5(10) LDc=]57a50 S6(6)
Sleeve 1=17. Dy=80.0
1% 15 188.29 | 200 107 45| Model No./ DL=68.0 Dk=101.0
12 15 [196.28 | 208 | 107 | 45 | Dimensions 1,=21.0 S7(5) Dc=86.0
12 % 15 | 20427 | 216 | 107 | 45 L2245
No. of Tooth PCD Outer Hub Hub | Max. Allowable
Effective | Width 5 Dia. Dia. | length Torque 2232 2325 2557 2140 2319 2497
Teeth T P Do By L (N-m)
Applicable
Sleeve Dr=80.0 Dr=101.0
9% 18 | 19557 | 209 107 50 | Model No./ S6(12) p-68.0 S7(5) LDc_=2i6,50
Dimensions Li=21.0 1544

Note: 1. Figures inside () are the number of mounting bolts.
2. From the sleeve model number in the table above, see the bolt size and tightening torque of the corresponding sleeve model in the upper right table on
this page.

m
-
=
=
D
(1-]
=
-
(=]
Y
—]
=
s

123



l Double Pitch S Type Lock Sprockets (for R Rollers)

Configuration A L L Configuration B L L @ S Type Lock Sleeve Dimensions

T T, L Sleeve D D L Bolt Size | Tightening Torque

— Model No. 0 € L (MxS) (N-m)

@ | s 320 240 | 120 M4x16 42

2 4201 320 | 140 M5x18 8.3

= -|; —|— S3 48.0| 385 | 155 M5x20 8.3

3s é’{ 8 8 Sl & &4 %8 & S4 56.0 | 46.0 | 155 M5x20 8.3

J_ J__ S5 66.0 | 560 | 17.5 M5x22 8.3

= | = — S6 | 800] 680 | 210 | Mex2s 16.8

L ‘ s7 101.0 | 860 | 245 M8x30 40.5

Model Numbering Example

RF2040R -1B 1000T-S2 518 A
Size/Roller type

T
Configuration A or B
No. of strands/Hub type Shaft bore dia.
No. of effective teeth: 10T=1000T

No. of mounting bolts
Sleeve model no.

@ Double Pitch R Roller

| See page 14 for more information and notes on use.

Ordering Example

Chain no.: RF2040R
No. of effective teeth: 10
Shaft bore: 15 mm

Configuration: A

Model Number
RF2040R-1B1000T-S2515A

Shaft Bore Dimensions and Sleeve Models

RF2040R ShaftBore Dia. d| 15 16 17 18 19 20 22 24 25 28 30 32 35
No. of | Tooth PCD Outer Hub Hub | Max. Allowable| 174 | 186 | 198 | 209 | 221 232 | 256 | 167 | 174 | 195
Effective | Width D Dia. Dia. Length Torque
Teeth T p Do D, [ (N-m) 223 | 232 | 260 | 279 | 298 | 325
Dr=48.5
10 7.3 8220 | 93 52 25 $3(3) Dc=38.5
L=15.5
11 7.3 90.16 | 102 63 25| pgplicable s2(5)
12 7.3 98.14 | 110 63 25 Sleeve Dr=42.0 s4(4)
13 73 | 10614 | 118 63 25 "6\9del No./ Dc=32.0 Dr=56.0
4 73 | 11415 | 127 63 25 | ~imensions L=14.0 Dc=46.0
15 73 | 12217 | 135 68 28 L=15.5
16 73 | 13020 | 143 68 28
RF2050R ShoftBoreDia.d| 17 | 18 | 19 | 20 | 22 | 24 | 25 | 28 | 30 | 32 | 35 | 38 | 40 | 42 | 45
No. of Tooth PCD Outer Hub Hub | Max. Allowable
Effective | Width D Dia. Dia. | Llength Torque 237 | 251 | 265 | 279 | 307 | 446 | 465 | 521 | 558 | 595 | 651 | 442 | 465 | 488 | 523
Teeth T P Do By L (N-m)
10 89 |10275| 117 73 28 e
11 89 | 11270 | 127 73 28 $2(6) Dc=32.0
12 89 | 12267 | 138 73 28 Apsrlzlicoble Li=14.0 S4(8) S5(5)
eeve D=56.0 D;=66.0
13 8.9 | 13267 | 148 73 28 |\1odel No./ e o BB
14 89 | 14268 | 158 73 28 | Dimensions L2155 L2175
15 89 |15271 | 168 73 28
16 89 |[16275| 179 73 28
RF2060R ShaftBore Dia. d| 24 25 28 30 32 35 38 40 42 45 48 50 55
No. of Tooth PCD Outer Hub Hub | Max. Allowable
Effective | Width 5 Dia. Dia. | length |  Torque 446 | 465 | 521 | 558 | 595 | 651 | 883 | 930 | 976 | 1046 | 1116 | 1162 | 1279
Teeth T P Do D, [ N-m)
10 11.9 [ 12329 | 140 83 45
11 11.9 [ 13523 | 153 83 45 Dr256.0
12 | 119 | 14721 ] 165 | 83 | 45 | Applicable S4(8) Dc=46.0 $5(10) 56(6)
138 | 119 [15920| 177 | 83 | 45 |\ SR y be=ls8 T ey
14 119 [171.22] 190 83 45 | Dimensions Lf=17"5 Lf=2 10
15 11.9 [ 183.25 | 202 83 45
16 1.9 | 19529 | 214 83 45
RF2080R ShoftBore Dia. d| 38 40 42 45 48 50 55 60 65 70
No. of Tooth PCD Outer Hub Hub | Max. Allowable
Effective | Width D Dia. Dia. | Length Torque 883 930 976 1046 1116 1162 1279 2140 2319 2497
Teeth T P Do B L (N-m)
10 15 | 16439 | 187 107 45 Dr=66.0
1 15 18031 | 203 | 107 | 45 $5(10) D D=80.0
12 15 | 19628 | 220 | 107 | 45 | Applicable L2 S6(6) Pc_=26]8(.)0 s7(5)
13 15 | 21227 | 237 | 107 | 45 Sleeve o D=101.0
- Model No./ Dc= 86.0
14 15 | 22829 253 107 45 | Dimensions < 245
15 15 | 24433 | 269 107 45
16 15 [ 26039 | 286 107 45
RF2100R Shaft Bore Dia. d 48 50 55 60 65 70
No. of Tooth PCD Outer Hub Hub | Max. Allowable
Effective | Width D Dia. Dia. Length Torque 2232 2325 2557 2140 2319 2497
Teeth T P Do D, [ (N-m)
Applicable Sleeve Dr=80.0 Dr=101.0
11 18 22539 | 254 17 56 Model No./ $6(12) Dc=68.0 S7(5) D= 86.0
Dimensions Li=21.0 Li= 24.5

Note: 1. Figures inside () are the number of mounting bolts.

2. From the sleeve model number in the table above, see the bolt size and tightening torque of the corresponding sleeve model in the upper right table on

this page.

0

MB3IAIBA

/9s( |eJauay

JUB]SISAY UOIS01109

|e12ads 8314 agn

juawyoeny |e1vads

d YbIy

uoIsidal

Mmoj4 9914

|enueyy huniaauibul

124



7 Innovation in Motion

> TallBAKI

A PT. MASA JAYA PERKASA

MASA JAY A

V| info@masajayaperkasa.com

JI. Hayam Wuruk No. 76,
LY\ Jakarta Barat,DKI Jakarta 11160

Y (+62)21-649-6496
@ (+62)852-1116-7713



	Slide 1

